< 00, > (M)

<op/p, > (70)

Ratio

X
N

0—3

0.2r A 0.2¢ T
F = F g
0.15F £0.15F - 1-
r (5] - .
r o) r !

0.1 v 0.1 :
0.05[ 0.05F----1 4.1
O 11t O+ ;

-0.05 -0.05F -+
0.1 ~0.0F -
-0.15F ~0.15F-----
_0.2:| nmin | P 9_02:| 11l g | P
A Hoo5 LE ;'
E s
05 " 1 AR
3 -2 -1 0 1 2 3 083 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=#— DQM_CKF_TT_base

—— DQM_CKF_TT_retrain

100

(23 e ]
o O

<od,> (um)

N
o

T T[T [ T[T T T [T T T [T T [TT T TT T[T T T [TTT T T T TTT[TTY

20

iy

ey
RatioI
P
N

1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w
o B
|
N
o
|
w

N

=

o

|
|||||||||||||||IT\||||||||||||||

[N
i
TTTT [T TTTT

1| 1L11E
093 -10 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


